D-/AC [
REV IS I0NS RELEASED |
2.93 _n.>>|@§> REV DESCRIPT 10N DATE APPROVED
) REDRAWN, NOTES 3 & 4.& REMOVE
9 19 J 12679 PAINT ADDED 9501713 R.S.
K |29261] ITEM 4 WAS 32757-001 95/12/28] RS
L 130701{0TY_[TEM § WAS 5; ADDED ITEMS 14, 15 & 16 [96/08/02] RS
M 3544 1{NOTE 5 ADDED 98/05/041 =5

f————e 2,60 MAX DIA ——

2.19

e 7 ) ———————————————an

1.7

CONSTRUCT 10N

GASKET SEALED & VENTED

NOMINAL VOLTAGE 28vVDC
CONTACT RATING, RES AND IND
A1-AZ, A3-Ad 50 AMP AT 28 VOC
INTERRUPT{ON CAPABIL1TY 500 AMP
COIL RATING 28vDC
PICKUP 18V, MAX HOT
DROPOUT 7 ¥V, MAX, HOT
RATED DUTY CONT INUOUS
VIBRATON 15 G'S T0 1000 £PS
AMBIENT TEMP, -85°F 10 165°F
© MAX, WEIGHT 1.5 02, _
= o _
NOTES: A2 O||I.9 _ _ A4
oy T
1. TERMINAL SHIELD IS NOTCHED FOR DRAINAGE. e = | _ A3
2. STAMP MONTH AND YEAR OF MFG ON CONTACIOR. _ _
3. ITEMS 5,6,9.% 10 TO BE SiLVER PLATED. X _
OBSERVE
4, COVER MATERIAL 1S ALUMINUM, PAINTED WiTH POLARITY _ PERMANENT
BLACK LACQUER. X2 MAGNET
5 .FAA/PMA PLATE (AND QVERLAY) NOT REQUIRED
ON UNTTES SUPPLIED TO QRIGINAL EQUIPMENT
REMOVE PAINT BOTH SIDES MANUFACTURERS .
O S IBER OF 2 OPPOSITE AR SRR
173 £.004 DIA, HOLE ) ’ 4 | 1| 39529-047 OVERLAY
4 MTG. HOLES B[ Sioas-010 CONTACTOR ASSEMBLY — PRIMARY
B-32 UNC-2A 10-32 UNF-2A 12 [ 1 | 58400-038 PLATE - FAA/PMA
7 STUDS 4 STUDS 1| 2 | 51701-18D WASHER - 015 X_103 X 3/16 MYLAR
30 | 4 | 51810-054 WASHER-LOCK-ND. 10 SPL1T TYPE ANG35B10 BRONZE
9 | 2 | 51806-014 WASHER-LOCK-NO.6 SPLIT TYPE AND 356 BRONZE
¥ 18— = g | 2 | 51805-011 WASHER-LOCK-NO,5 SPLIT TYPE AN35B5L BRONZE
e W ] 7 [ 2 ] 51205-581 SCREW - 5-40 X 3/8 RD. HD. BRASS
@/N . b u\@\\\ \\e 6 | 4 | 50410-054 NUT - 10-32 X 5/16 X 9/6% HEX, BRASS
S s = L] 5 |z [ 5e406-034 NUT - 6-32 X 174 X 6764 HEX BRASS
AH vl\ Sy ) 4 [ 16581-001 PLATE - WIRING DIAGRAM
4 1 1 h\\@ 3 | 1 | 15548-001 SHIELD ~ TERMINAL
7 |1 | 16043-001 PLATE - NAME
. i |1 | 15537-007 PLATE - BASE COVER
W b g Fing | Q1Y PART OR NOMENCLATURE OR FSCM DRAWING OR MATERTAL
S °e N |REGD|  IDENTIFYING MO DESCRIPTION N0 | SPECIFICATION OR NOTE
o~

0

UNLESS OTHERWISE SPECIFIED
DRENSHNG ARE IN INCHES

HARTMAN ELECTRICAL MANUFACTURING

MANSFIELD, OHIOQ

TUERIES (8
2 PL DEC.|3 PL DEC,|[ANGLES PR BY xmlm mm\om\wm
13 203 |r010] + 10 iR B SER) CONTACTOR - 2, SPST INO-1NC DB
MATERTAL BT e
MEG A mmw\_w, i A 093
RELEASE 7 SIZE | CODE I1DENT |OWG WO,
CONTR NO, _
GOVT APPVL O ML.O@M U N\PO
SCALE NONE | [SHEET




